Slope Review October 16, 2023

Today's Plan:

Learning Target (standard): | will describe the slope of a line as a rate of
change. | will use this rate of change in applied problems.

Students will. Complete practice problems over previous concepts at the
boards and take a quiz.

Teacher will. Provide practice problems over previous concepts, check
homework problems for accuracy and provide students feedback, describe
and provide quiz problems.

Assessment. Board work, homework check and quiz

Differentiation: Students will work at the board, go over and correct
homework at their seats and actively engage in quiz problems.

NAME

BELL RINGER

1) Graph 3x+by = 10 using a t-chart.

2) Smplify 22 = _i

2

3) Is (2, 3) a solution to the equation y = 2x - I?
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Graph using a t-chart.
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Find the slope.
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Find Th y=mx+b
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Find the missing value.
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John threw 6 passes for 112 yards in last Friday's football game. He
then threw 8 passes for 124 yards in this week's game.
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Use the 6-step process to describe the rate of change.
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Find the slope of the line.
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Find the slope of the line.
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missing value.
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Each pair of points lies on a line with the given slope. Find the
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Find the slope of the line. /
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Find the slope of the line.

(‘S‘Lb (qu\
M=Y,-Y, :g_ [ ? ¢
ook [y
= H;H_
t?

v
)




Slope Review October 16, 2023

Find the slope of the line.
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Each pair of points lies on a line with the given slope. Find the
missing value.
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